
Pre-Calculus - Honors

Worksheel#54

1) 5sinzx*3cosX=3
5(1-cos?x)t3cosx=3

5-5cosax*3cosx-3=O
5cis2x-3cosx -2=O

(5cosl"ZXcosx-1)=Q
cosx=-?/5 cosX=1

r l=18O"-66" X=O
x=18o"*66"

x = (0, tt4", 246.1

3) 5cosx+4=secx'5cosx+4= l(cosx)
5coszx+4cosx=1

5coszx*4cosx-1=O
(5cosx-l[cosx+1)=Q

cosx=ll5 cosX=-1
x=78" x=18O"
x=360"-78"

x = t78". tf{)., ?8?1

5) ?cosZx+coSX=O
?(2cos2x-1)+cosx=O

4coszx+cosx-?=O
cosx = -1 trffii

(2X4)
cosx=-l+€

I
cos x = O.5931 cos x = -O.&f31

x=t4" x=18(F-33"
x=360"-t4" x=18O"+33"
; = ($1o, 14V,213", 306")

8) cos?A=2sinaA-1
cos(A + A) = cos A cos A - sin A sin A

= cosz A - sinz A

= (l - sinz A) - sinz A
ri = t - 2 sinz A
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Answers

?) seczx+tonx-7=O
l*ton2x+tanx-7=O

tqn2x+tonx-6=0
(tonx*3Xtonx-2)=Q

tonx=-3 tonx=2
x=180e-72" x=63o
x=360-72" x=1@*63o

r = t:t, 1O8", ?43", ZSZ"}

4) 3cos2x"5cosx*2=O
3(2 cosa x - 1) + 5 cos x + 2 = O

6CoSzx-3*5CosX*2=O
6cosax*5cosx-1=0

(6cosx-l[cosx-l):Q
cosx=t/6 cosx=-1
x=80" x = 18C)"

x=36O"-80"
2j = {8(ts, 18ff, 28@}

6) cos 2A = cos2 A - sin2 A
cos(A * A) = cos A cos A - sin A sin A

= cos2 A - sina A

n cos2A=2coszA-1
cos(A * A) = cos A cos A - sin A sin A

' =coszA-sinaA
= cos2 A - (l - cos2 41

=coszA-l*coszA
=2coszA-l


